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A.4 min 48 sec

B. 3 min 48 sec

C. 10 min 48 sec

D. 14 mint 48 sec
E. None o ¢ —
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Question 14- Pipe A and B fill a tank in 36 minutes and 48
minutes respectively. When one fourth tank was full then there
1s an outlet pipe 1s added. This outlet pipe empties the tank with
one third efficiency. Find the time taken to fill the tank.
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What 1s average?
A single value (such as a mean, mode, or median) that
summarizes or represents the general significance of a

set of unequal values.
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Question 1- Find the average of 67, 72, 77, 82, 89
TS5 1- 67, 72, 77, 82; 89 ol 3T1Hd JTd hilSH

7/07 Zﬂl W%p = 75

EC) A.77
( /} 11 30 B. 86
Woct- urage < 15+ C.76.4

— E"None of these
https://t. me/mathbytaruns1rmepl

e A A B B B e I T e T
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Question 2- The average weight of 20 person 1s increased by

@ 1.5 kg when one person of weight 60 kg among them 1s
replaced y new person. Find the weight of new person.

TS 2- 20 SARRAT o 3HEd I | 1.5 foram ot Jig 2t & sat 3
60 TorTT O Ueh ATk ol AT Afch @ Tiaeiud fomam SiTar 81 9

fh T IS JTd ShITTU)
@ 70—74(/ % IMOUGL)]= 20X -5 A.70 kg

30
= 50 @ B.110 kg
Iy
%gf’mﬂam 60+50 C.90 kg
E’l D.30 kg
: E. None of these
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Question 3- The average expenditure of 8 person out of 9 is Rs

@ gDLP g’ §=30X8 30 . 1fthe expenditure of 9™ one is F@than the

=] %12 o average expenditure of all the 9. Find the expenditure of gth

one

(P il '
Zﬂlf’(’@;[j;i T4 3- 9 H ¥ 8 AfhAT okl 3THEd I 30 ¥ 2| Al 9o Ak oAl
T Gt 9 o 3T =T 9 30 TIY 3Tk 2| Fid A Th T =TI JTd

— 34
l w: O?’ﬁ%l@l \ }=Qg

?fz)( j _i&/ B.Rs 40.5
RH0-X < % =X 6315 C. Rs 25.5
X = 514 e \LD-Ks 63.75

E. None of these
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Question 4- The average of 12 number 1s 42. The average of

@g"m o= L{‘Q X {\? last 5 five 1@nd that of ﬁrs@ The sixth number 1s 6

= Lo Lf less than the fifth and 5_1§ss than the seventh. Find average of

& fifth , and seventh number.
meﬁ/ﬁ; Hox T 4- 12 TITAT ohT 3T 42 | S8 5 9= o7 3T9d 40 8 371
= 360  uger 4 % e 40 2| B GEAT UiEE @ 6 AT A 5 FH B
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= 504-3¢ ] AT
- /Jf, o D H3O0  spasti=lyy o0

= 31\ 33 C.48.6
ViV < 224 | =133 D.63.5

bY
3 ENone of these
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Question 5- 10 years ago average age of P and Q was 23 years.
The present average age of P, Q and R 1s 25. Find the present age

of R

@ T 5- 10 91N U&et P 3R Q i 3&d Y 23 o offl P, Q AR R hl
SIAH T 1Y 25 Y & R 3hl SIqH T 3 T shifsr|

0 P*&:%xz \ P10 +R= 5x3

a _ _ A.20 years
P‘F(S) = 116 P‘f : TT B. 30 years
\ @ = %*HO‘H O Rl TS‘éQ C. 40 years

- 66%&‘ <= ﬁm D.50 years

“ENone of these




(/) Iibia] sz%: X

SBI CLERK 2023 (3TIIR o )

Question 6- A batsman has certain average in his 11 innings.
He scored 90 runs in his 12" innings then his average
increased @ . Find his average after 12" innings.
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1:30

30 D.40
E. None of these
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A. 100 runs
B. 200 runs
C. 150 runs
D. 160 runs

E. NM@SG
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Question 7- The bating average of a batsman for 40 innings is
50 runs. The highest score exceeds the lowest by 172 run. Now
excluding these two innings the average scores becom‘
runs. Find the highest score.
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Question 8- average of 8 numbers is 21. if all the numbers are

multiplied by 8 what 1s the average of the product of the

number?

T 8- 8 HEATHI hl S@I Al Gl GEATSHT <Al 8  TOM fofall
ST &, T €T o U oh STEd T 2

5 | A.21
:(i/g_ B. 160
30 _C. 168
D.170

E. None of these
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Question 9- Out of three number first number 1s twice of second

and third number is thrice of first. If there average is 36 then find

the largest number.

DT I 1L w=9- i demsi § & vech de b den i a2 o dred

[2 | ], S ued! 4 sl i T 2 Al e 36 7, a1 el St HE
SISEASE] L
J=36x3 / myw‘:\l%xe =
Y 3B B. 70
= K3 — C. 80
> .

E. None of these
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A.60 kg
B.75 kg
C.90 kg
D.80 kg
E. None of these
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Question 10- The average weight of three men A , B, and C is 84
kg. D joins them and the average weight of the four becom
kg. If E whose weight @than that of D peplaces A, the
averages weight of B, C , D and E becomes 79 kg. The weight of
A s

T 10- A T80T A, B 3R C 37 37q a5 84 TRIT 81 D 3k A1
ST & ST =R ol STE IS 80 fRUT &1 STt 21 Ffe E forerept wie
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Question 11- The average expenditure of a person for first five

£ 0 O OO month in a year 1s Rs 5000 and that of next seven month 1s Rs
X)/\% \& 4 O,  2300. Find his average monthly income.
y T 11- Ueh STk okl I oh U] Uil He T okl 3T9d =47 5000 T4 2
y 3R ST ETd TR Rl 3T T 2300 &9 gl IFh! STTEd A6
@ SIPRICKAIS 1Y

Hug~ 5000xS +3300% % 20 A.Rs 3400
lZ B.Rs 4335
) - LC.Rs 3425
- M;T 3425 D.Rs 2255

/\2/ = E. None of these
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Question 12- In the first 10 overs of a cricket game, the run rate

was only 7.6. What should be the run rate in the remaining 40

overs to reach the target

T 12- Tshehe ©e o 98t 10 TSI H T 42 shared 7.6 4TI 316 Wi h
A& ok Ui h [oTT Y 40 JATR H T & T EHT =AMRY?

@ gEmm\ |0 owi= T 6Xlo )?(/h b= ko
i é 3% A.5

E/WK me'%g: Sl6~1¢ - 6)@/)7/0%7- B.7

6
D.S
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Question 13- The average of 9 observations 1s recorded as 124.

A. 128 / Later 1t was found that two observations with values 64 and 28
B.120 were entered wrongly a d 82)Find the correct average of
C. 130

the 9 observations.
D.136 T 13- 9 STIART T ST 124 o6 B9 H &1 {1 TT 8l 1€ | I8
E. None of these  qrmr iy 25 64 31t 28 T aTeY 3 STariIgRT 1 TTowell & 46 3T 82
@ c Shwﬁczwffm"éﬂmgﬂl 9 TR ohl Hal JTEd JTd
TOARg= 9)- Aoy dep=3€
Dﬁfﬁ:;g 7

X Lm@z: 128 < - 30




https://t.me/mathbytarunsirmepl




SBI CLERK 2023 (3TIIR o )

Question 14- The average temperature of Monday to Wednesday
was 40 , and of Tuesday to Thursday was 35 . If the temperature on

4
Thursday w@ of Monday, what was the temperature on

Thursday?

T 14- GHAT § ST 3T 6 AIHT 40 T, IR HITAT 8 oL ]
& AT 35 9Tl Fi< TR shl TTIHT FIHAR AT 4/5 AT, 1 T
dTIHT AT UT? a) 60

b) 75

c) 85

d) 40

¢) None of these
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